## FOLIA 386

# Annales Universitatis Paedagogicae Cracoviensis Studia Mathematica 23 (2024) 

## Aziza Gouda and Hesham Nabiel <br> Rings with centrally-extended Jordan epimorphisms


#### Abstract

The aim of this article is to introduce the concept of centrallyextended Jordan epimorphisms and proving that if $R$ is a non-commutative prime ring ( $*$-ring) of characteristic not two, and $G$ is a CE-Jordan epimorphism such that $[G(x), x] \in Z(R)\left(\left[G(x), x^{*}\right] \in Z(R)\right)$ for all $x \in R$, then $R$ is an order in a central simple algebra of dimension at most 4 over its center or there is an element $\lambda$ in the extended centroid of $R$ such that $G(x)=\lambda x$ ( $G(x)=\lambda x^{*}$ ) for all $x \in R$.


## 1. Introduction

Throughout this paper, $R$ denotes an associative ring with center $Z(R)$, $Q_{m r}(R)=Q$ denotes the maximal right ring of quotients of $R$ and the center of $Q_{m r}(R)$ is called the extended centroid of $R$ and denoted by $C$. By a ring with involution " $*$ ", we mean a ring equipped with an involution " $*$ ", it is also called $*$-ring. For $x, y \in R$ we have $[x, y]=x y-y x$ and $x \circ y=x y+y x$.

In 2016, Bell and Daif [2] introduced the concept of centrally-extended derivations and centrally-extended endomorphisms on a ring $R$ with center $Z(R)$. A $\operatorname{map} D$ on $R$ is called a centrally-extended derivation (CE-derivation) if $D(x+$ $y)-D(x)-D(y) \in Z(R)$ and $D(x y)-D(x) y-x D(y) \in Z(R)$ for all $x, y \in R$. A map $T$ of $R$ is said to be a centrally-extended endomorphism (CE-endomorphism) if for each $x, y \in R, T(x+y)-T(x)-T(y) \in Z(R)$ and $T(x y)-T(x) T(y) \in Z(R)$. They showed that if $R$ is a semiprime ring with no nonzero central ideals, then every CE-derivation is a derivation and every CE-epimorphism is an epimorphism.

[^0]Through the last five years, the authors in [7, 8, 14, 15, 9, 10, 11, 12, 13 , introduced the notions of CE-generalized $(\theta, \phi)$-derivations, CE-generalized $*$-derivations, CE-reverse derivations, CE-generalized reverse derivations, CE-higher derivation, CE-higher *derivation, CE-homoderivation, $\mathrm{CE}-\alpha$-homoderivation, multiplicative CE-derivation and multiplicative generalized reverse $*$ CE-derivation and proved similar results.

In [3] Bhushan et al. gave the notion of a CE-Jordan derivation to be a mapping $D$ of $R$ satisfying $D(x+y)-D(x)-D(y) \in Z(R)$ and $D(x \circ y)-D(x) \circ y-x \circ D(y) \in$ $Z(R)$ for all $x, y \in R$. Also, they gave the notion of a CE- Jordan $*$-derivation to be a mapping $D$ of a ring $R$ with involution * satisfying $D(x+y)-D(x)-D(y) \in Z(R)$ and $D(x \circ y)-D(x) y^{*}-x D(y)-D(y) x^{*}-y D(x) \in Z(R)$ for all $x, y \in R$. They proved the following. Let $R$ be a non-commutative prime ring (with involution *) of characteristic not 2 . If $R$ admits a CE-Jordan derivation $d$ of $R$ such that $[d(x), x] \in Z(R)\left(\left[d(x), x^{*}\right] \in Z(R)\right)$ for all $x \in R$, then either $d=0$ or $R$ is an order in a central simple algebra of dimension at most 4 over its center. Also they obtained the same results in the case of CE-Jordan *-derivations.

Bhushan et al. in [4] introduced the notion of CE-generalized derivation Jordan derivation is a mapping $F$ of $R$ satisfying $F(x+y)-F(x)-F(y) \in Z(R)$ and $F(x \circ y)-F(x) y-F(y) x-x D(y)-y D(x) \in Z(R)$ for all $x, y \in R$, where $D$ is a CE-Jordan derivation of $R$. They proved the following:
(i) Let $R$ be a non-commutative prime ring of characteristic not 2 . If $R$ admits a CE-generalized derivation $F$ constrained with a CE-Jordan derivation $d$ of $R$ such that $[F(x), x] \in Z(R)$ for all $x \in R$, then $R$ is an order in a central simple algebra of dimension at most 4 over its center or $F(x)=\lambda x$ for all $x \in R$, where $\lambda \in C$.
(ii) Let $R$ be a non-commutative prime ring with involution $*$ and characteristic not 2. If $R$ admits a CE-generalized derivation $F$ constrained with a CEJordan derivation $d$ of $R$ such that $\left[F(x), x^{*}\right] \in Z(R)$ for all $x \in R$, then $R$ is an order in a central simple algebra of dimension at most 4 over its center or $F=0$.

Our objective in this article is to introduce the notion of CE-Jordan endomorphisms and CE-Jordan epimorphisms and prove the following results:
(i) Let $R$ be a non-commutative prime ring of characteristic not two. If $R$ admits a CE-Jordan epimorphism $G$ such that $[G(x), x] \in Z(R)$ for all $x \in R$, then $R$ is an order in a central simple algebra of dimension at most 4 over its center or $G(x)=\lambda x$ for all $x \in R$, where $\lambda \in C$.
(ii) Let $R$ be a non-commutative prime ring of characteristic not two with involution $*$. If $R$ admits a CE-Jordan epimorphism $G$ such that $\left[G(x), x^{*}\right] \in$ $Z(R)$ for all $x \in R$, then $R$ is an order in a central simple algebra of dimension at most 4 over its center or $G(x)=\lambda x^{*}$ for all $x \in R$, where $\lambda \in C$.

## 2. Preliminary results

The following lemmas help us to prove our results.
Lemma 2.1 ([5] Theorem 3.2])
Let $R$ be a prime ring. If $g: R \rightarrow R$ is an additive mapping such that $[g(x), x]=0$ for all $x \in R$, then there exists $\lambda \in C$ and an additive mapping $\beta: R \rightarrow C$, such that $g(x)=\lambda x+\beta(x)$ for all $x \in R$.

Lemma 2.2 ([6, Lemma 1])
Let $R$ be a prime ring with extended centroid $C$. Then the following statements are equivalent:
(i) $R$ satisfies $s_{4}$.
(ii) $R$ is commutative or $R$ embeds into $M_{2}(K)$, for a field $K$.
(iii) $R$ is algebraic of bounded degree 2 over $C$.
(iv) $R$ satisfies $\left[\left[x^{2}, y\right],[x, y]\right]$.

In the following lemma, we generalize [5, Proposition 3.1] to use it in our results.

Lemma 2.3
Let $R$ be a 2-torsion free semiprime ring with a nonzero map $\alpha: R \rightarrow R$ and $\alpha(x+y)-\alpha(x)-\alpha(y) \in Z(R)$. If $[\alpha(x), x] \in Z(R)$ for all $x \in R$, then $[\alpha(x), x]=0$ for all $x \in R$.

Proof. By our hypothesis, we have

$$
\begin{equation*}
[\alpha(x), x] \in Z(R) \quad \text { for all } x \in R \tag{1}
\end{equation*}
$$

Linearizing (1) implies that

$$
\begin{equation*}
[\alpha(x), y]+[\alpha(y), x] \in Z(R) \quad \text { for all } x, y \in R \tag{2}
\end{equation*}
$$

Putting $x^{2}$ instead of $y$ in (2) and using (1) yield

$$
\begin{equation*}
2[\alpha(x), x] x+\left[\alpha\left(x^{2}\right), x\right] \in Z(R) \quad \text { for all } x \in R \tag{3}
\end{equation*}
$$

From (1) and (3), we obtain

$$
\begin{aligned}
0 & =\left[\alpha(x), 2[\alpha(x), x] x+\left[\alpha\left(x^{2}\right), x\right]\right] \\
& =2[\alpha(x), x]^{2}+\left[\alpha(x),\left[\alpha\left(x^{2}\right), x\right]\right] \quad \text { for all } x \in R .
\end{aligned}
$$

From (1), we have $\left[\alpha\left(x^{2}\right), x^{2}\right]=\left[\alpha\left(x^{2}\right), x\right] x+x\left[\alpha\left(x^{2}\right), x\right] \in Z(R)$ for all $x \in R$ Thus,

$$
\begin{aligned}
0 & =\left[\alpha(x),\left[\alpha\left(x^{2}\right), x\right] x+x\left[\alpha\left(x^{2}\right), x\right]\right] \\
& =2[\alpha(x), x]\left[\alpha\left(x^{2}\right), x\right]+\left[\alpha(x),\left[\alpha\left(x^{2}\right), x\right]\right] x+x\left[\alpha(x),\left[\alpha\left(x^{2}\right), x\right]\right] \\
& =2[\alpha(x), x]\left[\alpha\left(x^{2}\right), x\right]-4 x[\alpha(x), x]^{2} \quad \text { for all } x \in R .
\end{aligned}
$$

So, we find

$$
\begin{aligned}
0 & =\left[\alpha(x), 2[\alpha(x), x]\left[\alpha\left(x^{2}\right), x\right]-4 x[\alpha(x), x]^{2}\right] \\
& =-8[\alpha(x), x]^{3} \quad \text { for all } x \in R .
\end{aligned}
$$

The two torsion freeness of $R$ and the semiprimeness imply that $[\alpha(x), x]=0$ for all $x \in R$.

By the following lemma, we say [1, Proposition 2.2] is true when we take $\alpha: R \rightarrow R$ such that $\alpha(x+y)-\alpha(x)-\alpha(y) \in Z(R)$ for all $x, y \in R$ instead of $\alpha$ is additive. Also, we use it in proving of our results.

Lemma 2.4
Let $R$ be a 2-torsion free semiprime ring admitting an involution *. If $\alpha: R \rightarrow R$ a nonzero map, $\alpha(x+y)-\alpha(x)-\alpha(y) \in Z(R)$ for all $x, y \in R$ and $\left[\alpha(x), x^{*}\right] \in Z(R)$ for all $x \in R$, then $\left[\alpha(x), x^{*}\right]=0$ for all $x \in R$.

Proof. By our assumption, we have $\left[\alpha(x), x^{*}\right] \in Z(R)$ for all $x \in R$. Putting $x^{*}$ instead of $x$, we get $\left[\alpha\left(x^{*}\right), x\right] \in Z(R)$ for all $x \in R$. Define a map $\gamma: R \rightarrow R$ such that $\gamma(x)=\alpha\left(x^{*}\right)$ for all $x \in R$. We note $\gamma(x+y)-\gamma(x)-\gamma(y) \in Z(R)$ for all $x \in R$ and $[\gamma(x), x] \in Z(R)$ for all $x \in R$. Lemma 2.3 gives $[\gamma(x), x]=0$ for all $x \in R$. This implies that $\left[\alpha\left(x^{*}\right), x\right]=0$ for all $x \in R$, hence $\left[\alpha(x), x^{*}\right]=0$ for all $x \in R$.

## 3. Centrally-extended Jordan epimorphisms

In the present section, we introduce the notion of centrally extended endomorphisms and centrally extended epimorphisms, and give some examples on both. Finally, we prove some results on centrally extended epimorphism.

## Definition 3.1

A map $G: R \rightarrow R$ is called a centrally-extended Jordan endomorphism (CE-Jordan endomorphism) if $G(x+y)-G(x)-G(y) \in Z(R)$ and $G(x \circ y)-G(x) \circ G(y) \in Z(R)$ for all $x, y \in R$, and if $G$ is also surjective, call it a CE-Jordan epimorphism.

In the following examples, we make sure the existance of CE-Jordan endomorphisms and CE-Jordan epimorphisms.

Example 3.2
Suppose $\mathrm{R}=M_{2}(\mathbb{Z})$ where $\mathbb{Z}$ is the ring of integers. It is obvious that the mapping $G: R \rightarrow R$ defined by

$$
G\left(\left[\begin{array}{ll}
a & b \\
c & t
\end{array}\right]\right)=\left[\begin{array}{ll}
c & 0 \\
0 & c
\end{array}\right]
$$

is a CE-Jordan endomorphism, but not a Jordan endomorphism.

Example 3.3
Let the ring $\mathrm{R}=\left\{\left[\begin{array}{lll}0 & t & w \\ 0 & 0 & n \\ 0 & 0 & 0\end{array}\right]: t, w, n \in \mathbb{R}\right\}$. It is obvious that the mapping $G: R \rightarrow R$ such that

$$
G\left(\left[\begin{array}{lll}
0 & t & w \\
0 & 0 & n \\
0 & 0 & 0
\end{array}\right]\right)=\left[\begin{array}{ccc}
0 & 2 t & 2 w \\
0 & 0 & 2 n \\
0 & 0 & 0
\end{array}\right]
$$

is a CE-Jordan epimorphism but not a Jordan epimorphism.
Example 3.4
Let $\mathrm{R}=M_{2}(\mathbb{Z})$. The mapping $G: R \rightarrow R$ defined by

$$
G\left(\left[\begin{array}{ll}
a & b \\
c & t
\end{array}\right]\right)=\left[\begin{array}{cc}
t & -b \\
-c & a
\end{array}\right]
$$

is a CE-Jordan epimorphism but not a CE-epimorphism.
Lemma 3.5
Let $R$ be a 2-torsion free ring with no nonzero central ideals. Then every CEJordan epimorphism $G$ of $R$ is additive.

Proof. Since $G$ is a CE-endomorphism, then we have for $x, y, w \in R$

$$
\begin{equation*}
G(x+y)=G(x)+G(y)+a_{1}, \quad a_{1} \in Z(R) \tag{4}
\end{equation*}
$$

And,

$$
G(w \circ(x+y))=G(w) G(x+y)+G(x+y) G(w)+a_{2}, \quad a_{2} \in Z(R)
$$

By (4), we get

$$
\begin{equation*}
G(w \circ(x+y))=G(w)\left(G(x)+G(y)+a_{1}\right)+\left(G(x)+G(y)+a_{1}\right) G(w)+a_{2} . \tag{5}
\end{equation*}
$$

Also, we have

$$
\begin{align*}
G(w \circ(x+y))= & G((w \circ x)+(w \circ y))=G(w \circ x)+G(w \circ y)+a_{3} \\
= & G(w) G(x)+G(x) G(w)+a_{4}+G(w) G(y)  \tag{6}\\
& +G(y) G(w)+a_{5}+a_{3}, \quad a_{3}, a_{4}, a_{5} \in Z(R) .
\end{align*}
$$

Equations (5) and (6) imply that $2 a_{1} G(w)+a_{2}=a_{3}+a_{4}+a_{5}$ i.e., $2 a_{1} G(w) \in Z(R)$ for all $w \in R$. Since $R$ is 2-torsion free, then $a_{1} G(w) \in Z(R)$ for all $w \in R$. Using $G$ is surjective gives $a_{1} w \in Z(R)$ for all $w \in R$. Thus, $a_{1} R$ is a central ideal, hence $a_{1} R=(0)$. Therefore, letting $A(R)$ be the two-sided annihilator of $R$, we have $a_{1} \in A(R)$. But $A(R)$ is a central ideal, so $a_{1}=0$ and by (4), we get our proof.

Corollary 3.6
Let $R$ be a non-commutative prime ring of characteristic not two. If $G$ is a $C E$ Jordan epimorphism of $R$, then $G$ is additive.

Now, we are ready to prove our first theorem.

## Theorem 3.7

Let $R$ be a non-commutative prime ring of characteristic not two. If $R$ admits a CE-Jordan epimorphism $G$ such that $[G(x), x] \in Z(R)$ for all $x \in R$, then $R$ is an order in a central simple algebra of dimension at most 4 over its center or $G(x)=\lambda x$ for all $x \in R$, where $\lambda \in C$.

Proof. By our hypothesis and Lemma 2.3 we obtain

$$
\begin{equation*}
[G(x), x]=0 \quad \text { for all } x \in R \tag{7}
\end{equation*}
$$

Linearizing (7) gives

$$
\begin{equation*}
[G(x), y]+[G(y), x]=0 \quad \text { for all } x, y \in R \tag{8}
\end{equation*}
$$

Substituting $x \circ y$ for $y$ in (8) gives

$$
[G(x), x \circ y]+[G(x \circ y), x]=0 \quad \text { for all } x, y \in R .
$$

Thus,

$$
\begin{align*}
0 & =[G(x), x \circ y]+[G(x) G(y)+G(y) G(x), x] \\
& =[G(x), x \circ y]+G(x)[G(y), x]+[G(y), x] G(x) \quad \text { for all } x, y \in R \tag{9}
\end{align*}
$$

Corollary 3.6 implies that $G$ is additive, then (7) and Lemma 2.1 give $G(x)=$ $\lambda x+\beta(x)$ for all $x \in R$ where $\beta: R \rightarrow C$ is an additive mapping. By (9), we arrive at

$$
\begin{aligned}
0= & {[\lambda x+\beta(x), x \circ y]+(\lambda x+\beta(x))[\lambda y+\beta(y), x] } \\
& +[\lambda y+\beta(y), x](\lambda x+\beta(x)) \quad \text { for all } x, y \in R .
\end{aligned}
$$

Since $\lambda$ and $\beta(x) \in C$ for all $x \in R$, then

$$
\begin{align*}
0 & =\lambda[x, x \circ y]+\lambda^{2} x[y, x]+\lambda^{2}[y, x] x+2 \lambda \beta(x)[y, x] \\
& =\lambda\left[x^{2}, y\right]+\lambda^{2}\left[y, x^{2}\right]+2 \lambda \beta(x)[y, x]  \tag{10}\\
& =\left(\lambda^{2}-\lambda\right)\left[y, x^{2}\right]+2 \lambda \beta(x)[y, x] \quad \text { for all } x, y \in R .
\end{align*}
$$

So, we find

$$
0=\left(\lambda^{2}-\lambda\right)\left[\left[x^{2}, y\right],[y, x]\right] \quad \text { for all } x, y \in R
$$

The primeness of $R$ leads to the primeness of $Q$, then we get either $\lambda^{2}=\lambda$ or $\left[\left[x^{2}, y\right],[x, y]\right]=0$ for all $x, y \in R$. By Lemma 2.2 , the second case is equivalent to the $s_{4}$ identity and $R$ is assumed to be non-commutative, therefore $R$ is an order in a central simple algebra of dimension at most 4 over $Z(R)$.

On the other hand, let us assume that $\lambda^{2}=\lambda$. Then from (10), we have $2 \lambda \beta(x)[y, x]=0$ for all $x, y \in R$. Since characteristic $R$ is not two, then characteristic $Q$ is not two and so, we find $\lambda \beta(x)[y, x]=0$ for all $x, y \in R$. The primeness of $Q$ gives $\lambda=0$ or $\beta(x)[y, x]=0$ for all $x, y \in R$.

Assume $\lambda=0$. Then $G(x)=\beta(x) \in C$ for all $x \in R$. Since $G$ is surjective, then $R \subseteq C$ i.e., $R$ is a commutative ring, a contradiction.

If $\beta(x)[y, x]=0$ for all $x, y \in R$, then the primeness of $Q$ implies that for each $x \in R$ either $\beta(x)=0$ or $[y, x]=0$ for all $y \in R$. Write $E_{1}=\{x \in R: \beta(x)=0\}$ and $E_{2}=\{x \in R:[y, x]=0$ for all $y \in R\}$. Therefore, we note that $E_{1}$ and $E_{2}$ are proper additive subgroups of $R$ and its union equals $R$ which is impossible. Thus, either $R=E_{1}$ or $R=E_{2}$. It implies that either $\beta(x)=0$ for all $x \in R$ or $[y, x]=0$ for all $x, y \in R$. If $[y, x]=0$ for all $x, y \in R$, then $R$ is commutative, a contradiction. If $\beta(x)=0$ for all $x \in R$, then $G(x)=\lambda x$ for all $x \in R$.

Now, we prove the second theorem that deals with a ring with involution.

## Theorem 3.8

Let $R$ be a non-commutative prime ring of characteristic not two with involution *. If $R$ admits a CE-Jordan epimorphism $G$ such that $\left[G(x), x^{*}\right] \in Z(R)$ for all $x \in R$, then $R$ is an order in a central simple algebra of dimension at most 4 over its center or $G(x)=c x^{*}$ for all $x \in R$, where $c \in C$.

Proof. Lemma 2.4 gives

$$
\begin{equation*}
\left[G(x), x^{*}\right]=0 \quad \text { for all } x \in R \tag{11}
\end{equation*}
$$

Applying involution in 11, we get

$$
\begin{equation*}
\left[G(x)^{*}, x\right]=0 \quad \text { for all } x \in R \tag{12}
\end{equation*}
$$

Linearizing 12 gives

$$
\begin{equation*}
\left[G(x)^{*}, y\right]+\left[G(y)^{*}, x\right]=0 \quad \text { for all } x, y \in R \tag{13}
\end{equation*}
$$

Substituting $x \circ y$ for $y$ in gives

$$
\left[G(x)^{*}, x \circ y\right]+\left[G(x \circ y)^{*}, x\right]=0 \quad \text { for all } x, y \in R .
$$

Thus,

$$
\begin{align*}
0= & {\left[G(x)^{*}, x \circ y\right]+\left[(G(x) G(y)+G(y) G(x))^{*}, x\right] } \\
= & {\left[G(x)^{*}, x \circ y\right]+G(x)^{*}\left[G(y)^{*}, x\right] }  \tag{14}\\
& +\left[G(y)^{*}, x\right] G(x)^{*} \quad \text { for all } x, y \in R .
\end{align*}
$$

Since $* G$ is additive, then Lemma 2.1 gives $G(x)^{*}=\lambda x+\beta(x)$ for all $x \in R$, where $\beta: R \rightarrow C$ is an additive mapping. So, (14) becomes

$$
\begin{aligned}
0= & {[\lambda x+\beta(x), x \circ y]+(\lambda x+\beta(x))[\lambda y+\beta(y), x] } \\
& +[\lambda y+\beta(y), x](\lambda x+\beta(x)) \quad \text { for all } x, y \in R .
\end{aligned}
$$

Since $\lambda$ and $\beta(x)$ for all $x \in R$ belong to $C$, then

$$
\begin{equation*}
\left(\lambda^{2}-\lambda\right)\left[y, x^{2}\right]+2 \lambda \beta(x)[y, x]=0 \quad \text { for all } x, y \in R \tag{15}
\end{equation*}
$$

So, we get $\left(\lambda^{2}-\lambda\right)\left[\left[x^{2}, y\right],[y, x]\right]=0$ for all $x, y \in R$. As above, we find either $\lambda^{2}=\lambda$ or $R$ is an order in a central simple algebra of dimension at most 4 over its center. If $\lambda^{2}=\lambda$, then implies that $\beta(x)[y, x]=0$ for all $x, y \in R$. By the same manner as in Theorem 3.7 we arrive at $\beta(x)=0$ for all $x \in R$. Therefore $G(x)^{*}=\lambda x$ for all $x \in R$. The involution leads to $G(x)=\lambda^{*} x^{*}=c x^{*}$ for all $x \in R$, where $c \in C$.

Acknowledgement. I would like to give my deep thanks to the referees and the handling editor for their valuable comments.

## References

[1] Ali, Shakir, and Nadeem Ahmed Dar. "On *-centralizing mappings in rings with involution." Georgian Math. J. 21, no. 1 (2014): 25-28. Cited on 22
[2] Bell, Howard Edwin, and Mohamad Nagy Daif. "On centrally-extended maps on rings." Beitr. Algebra Geom. 57, no. 1 (2016): 129-136. Cited on 19
[3] Bhushan, Bharat, Gurninder Singh Sandhu, Shakir Ali, et. al."On centrally extended Jordan derivations and related maps in rings." Hacet. J. Math. Stat. 52, no. 1 (2023): 23-35. Cited on 20
[4] Bhushan, Bharat, Gurninder Singh Sandhu, and Deepak Kumar. "Centrallyextended generalized Jordan derivations in rings." Ann. Univ. Paedagog. Crac. Stud. Math. 22 (2023): 33-47. Cited on 20 .
[5] Brešar, Matej. "Centralizing mappings and derivations in prime rings." J. Algebra 156, no. 2 (1993): 385-394. Cited on 21
[6] Brešar, Matej. "Commuting traces of biadditive mappings, commutativitypreserving mappings and Lie mappings." Trans. Amer. Math. Soc. 335, no. 2 (1993): 525-546. Cited on 21
[7] El-Deken, Susan Fahmy, Mahmoud Momamed El-Soufi. "On centrally extended reverse and generalized reverse derivations." Indian J. Pure Appl. Math. 51, no. 3 (2020): 1165-1180. Cited on 20
[8] El-Deken, Susan Fahmy, and Hesham Nabiel. "Centrally-extended generalized *derivations on rings with involution." Beitr. Algebra Geom. 60, no. 2 (2019): 217224. Cited on 20
[9] El-Soufi, Mahmoud Mohamed, and Abd Elnasser Ghareeb. "Centrally Extended $\alpha$-Homoderivations on Prime and Semiprime Rings." J. Math. no. 1 (2022): Art. ID 2584177. Cited on 20
[10] Ezzat, Osama Hamed. "Functional equations related to higher derivations in semiprime rings." Open Math. 19, no. 1 (2021): 1359-1365. Cited on 20
[11] Ezzat, Osama Hamed. "Rings with centrally-extended higher *-derivations." Adv. Appl. Clifford Algebr. 33, no. 2 (2023): Paper No. 21. Cited on 20
[12] Khaled, Aya Mohammed, Abd Elnasser Ghareeb, and Mohmmed Sayed Tammam El-Sayiad. "Multiplicative generalized reverse *CE-derivation acting on a ring with involution." Journal of Mathematics. 2023, no. 1 (2023): Article ID 2102909. Cited on 20.
[13] Melaibari, Asmaa, Najat Muthana, and Ahmad Al-Kenani. "Centrally-extended homoderivations on rings." Gulf J. Math. 4, no. 2 (2016): 62-70. Cited on 20
[14] Tammam El-Sayiad, Mohammed Sayed, Ahmed Ageeb, et. al. "What is the action of a multiplicative centrally-extended derivation on a ring?" Georgian Math. J. 29, no. 4 (2022): 607-613. Cited on 20
[15] Tammam El-Sayiad, Mohammed Sayed, Najat Mohammed Muthana, and Zakeyah S. Alkhamisi. "On rings with some kinds of centrally-extended maps." Beitr. Algebra Geom. 57, no. 3 (2016): 579-588. Cited on 20

Aziza Gouda<br>Fayoum University<br>Faculty of Science<br>Fayoum city, 63514<br>Egypt<br>E-mail: aga07@fayoum.edu.eg<br>Hesham Nabiel<br>Department of Mathematics<br>Al-Azhar University<br>Cairo<br>Egypt<br>E-mail: hnabiel@yahoo.com

Received: October 12, 2023; final version: January 9, 2024; available online: March 22, 2024.


[^0]:    AMS (2020) Subject Classification: 16N60, 16W10, 16U10.
    Keywords and phrases: derivations, centrally-extended derivations, endomorphisms, centrally-extended endomorphisms, centrally-extended Jordan endomorphisms, prime rings.

    ISSN: 2081-545X, e-ISSN: 2300-133X.

